g/ d N°®

Ratio to ATLAS

P2 Ipb/GeV]

d K

=
<
I

-
o
R

|
o
@

1074

0.5

13000 GeV pp tt
[T 1 1T 1 rrr Tttt ;)
__ o
— ttHT (ATLAS semileptonic ttbar) — @
— 1=
~ B ATLAS e
— 31— Pythia 6.428 350 N
~ —A— Pythia 6.428 370 nE
- Pythia 6.428 380 5
—o— Pythia 6.428 p0 o
— w5 Pythig6.428 p2010 —E
- o
™
— — <
(40
%
o
I —_{m™M
[ —
— =
— — X
u 1.8
B 1=
- -S
=
L o
3
[%)]
IS
__ —_| 2
L 10O
1, PRI AU R TN NP T AU N SN SO SN AU N T NP R -
:l T T T | T T T T | T T T T | T T T T |:
— —2
1
L —0.5
| " 1 1 1 " | " 1 1 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000 1500 2000

H* [GeV], N 2 7



	Contents
	Page 1


